

```

> #OK to post
> #Anne Somalwar, 9.13.2021, hw3
>
> #1
> #Use Maple to solve the following initial value problem differential equations for  $2 \leq k \leq 10$ 
  #  $y^{(k)}(t) - y(t) = 0$  ;  $y(0) = 1$ ,  $y'(0) = 0$ , ...,  $y^{(k-1)}(0) = 0$ .
  #and then find the value (in decimals) of  $y(1)$ . Do you see a trend?
>
> #Create list of  $k-1$  initial conditions
>  $G(k) := y(0) = 1, \text{seq}(D^{(i)}(y)(0) = 0, i = 1 .. (k - 1))$ 
       $G := k \mapsto (y(0) = 1, \text{seq}(D^{(i)}(y)(0) = 0, i = 1 .. k - 1))$  (1)
> #k=2
>  $\text{dsolve}(\{D^{(2)}(y)(t) - y(t) = 0, G(2)\}, y(t))$ 
       $y(t) = \frac{e^{-t}}{2} + \frac{e^t}{2}$  (2)
> #I renamed  $y(t)$   $s(t)$  to avoid confusing maple
>  $s(t) := \frac{e^{-t}}{2} + \frac{e^t}{2}$ 
       $s := t \mapsto \frac{e^{-t}}{2} + \frac{e^t}{2}$  (3)
>  $\text{evalf}(s(1))$ 
      1.543080635 (4)
> #k=3
>  $\text{dsolve}(\{D^{(3)}(y)(t) - y(t) = 0, y(0) = 1, G(3)\}, y(t))$ 
       $y(t) = \frac{e^t}{3} + \frac{2 e^{-\frac{t}{2}} \cos\left(\frac{\sqrt{3} t}{2}\right)}{3}$  (5)
>  $s(t) := \frac{e^t}{3} + \frac{2 e^{-\frac{t}{2}} \cos\left(\frac{\sqrt{3} t}{2}\right)}{3}$ 
       $s := t \mapsto \frac{e^t}{3} + \frac{2 \cdot e^{-\frac{t}{2}} \cdot \cos\left(\frac{\sqrt{3} \cdot t}{2}\right)}{3}$  (6)
>  $\text{evalf}(s(1))$ 
      1.168058313 (7)
> #k=4
>  $\text{dsolve}(\{D^{(4)}(y)(t) - y(t) = 0, y(0) = 1, G(4)\}, y(t))$ 
       $y(t) = \frac{e^{-t}}{4} + \frac{e^t}{4} + \frac{\cos(t)}{2}$  (8)

```



```
> #5
> #Doing it both by hand and via Maple solve the recurrence with the initial conditions
#  $a(n) = a(n - 4)$  ;  $a(0) = 1, a(1) = 0, a(2) = 0, a(3) = 0$  .
```

```
>  $a(n) = a(n)$ 
```

$$a(n) = a(n) \tag{13}$$

```
> rsolve( {  $a(n) = a(n - 4), a(0) = 1, a(1) = 0, a(2) = 0, a(3) = 0$  },  $a(n)$  );
```

$$\frac{1^n}{4} + \frac{(-1)^n}{4} + \frac{(-1)^n}{4} + \frac{1}{4} \tag{14}$$